(A) (B)
©) (D)
2. a,b b a 512 512 b 160 a,b
(A) 16 (B) 32 (C) 160 (D) 512
3. ! 2 3 100 100
100 100 100 100
(A) 36 (B) 40 (C) 44 (D) 48
1 2 1 2 1 2
4. —+—+—=+—+ + +—+
3.9 27 81 32n-t o 32n
5 3 7
A)— B)— C)— D)1
(A) 2 (B) ) ©) 2 (D)
5. A(l, 3), B4, 0) L: y=mx—1 AB m
(A) 2<m<1 (B) %£m£3 © %£m£4 (D)2<m<7
6.
(1) (2] (3) (4)
1 ( ) 2 1 n+1
n 6
(A) 57 (B) 59 (C) 61 (D) 63
7. F(x)= 1+xtx*+x x40+ x5 x7 . G(x)= 14H2x+H3x3+H4x>+5x 465+ 7x%+8x +9x*+10x’ F(x), G(x)
XIO
(A) 55 (B) 54 (C) 45 (D) 44
8. m,neR  f(x)=x’+mx*+nx+2 flx) x-1 2 x+2 m=
3 2
(A)2 (B) 1 (C)E (D)§
9. 2xH5%°—x"+5x-3=0 0 2

4 3 2 1
(A3 (B)7 ©3 (D)5



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

712 520
(2°)°

3
a2
(3) +(25)2

(A) 120 (B) 129-33/3

logg—glog\/ng%log \343 =

(A) -1 (B)0
10g2=0.3010, log3=0.4771 6
(A) 16 (B) 15

OA=a, /AOB=«a, /BOC= f

(A)asina sinf

(B) acosa cosp
(C)asina cosp
(D) acosa sinpg

sin150°-co0s300° + tan 240° - cot480°=

(C) -130

)1

(©) 14

AB 1 OB,BC L OC B

3 5 3
()7 (B) ©-
7,8,9
(A) 24 (B)12+/5 (©)124/6
A 30° 200
(A) IOO(x/g—l) (B) 100\/5 (©) IOO(x/§+1)
C 0 ( )
) C
(A) (-1,4/3) (B) (-3, 1) (C) (-2,2+/3)
_1+\/§i 9
_ Lo
2
et (B)-1 (©)
O
A OA 2 B
(A)3,4) (B)(1++/3, 2++/3) (C) (24/3,2+4/3)
A(-1,-1), B3, 1),C(1, 4) ABC
(A) 6 (B) 7 (C) 8
A(l1, 0, 0), B(2,2,3),C(4,2, 1) ABC
(A) 26 (B) 346 (C) 443

C

30°

(D) _SE
(D)7
(D) 13
A
B
- C
5
(D) 2
(D) 36
B
(D) 200(~/3 +1)
(1,4/3) 26(
(D) (-3,4/3)
(D) 1
4

(D)(2/3-1,2+4/3)

(D)9

(D)4

45°



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

E xtytz=4
(A)3rx (B) 4
C
(A)1, 1, 1) B)(2, 1, 1)
5x3 1
(A) 24 (B) 25
(©) 26 (D) 27
(A) 90 (B) 72
4 5
(A)E (B) )
3 2 1
2
5 3
(A)g (B)ﬁ
P(a, b) (x=3)+(y—4)*=1
(A)S (B)+/30
( ) 10
X2 y2 B X2 y B
TR T ® 55716
(A)XW3 -1, 3+1)  (B)(¥3,1)
X(x-2)+0.1=0
(A) -1 (B)
X N, Ny _
NO
30
(A)%Z 50 (B) %290

0 0

(x=1)’+y*+2°=9 C
O)57

(O(1,2, 1)

(C) 68

7
©) =

1
©3

va? +b?

(C) 5++/2
(-2, 0), (2, 0)

2 2

X\ y
C) ——+l-=1
© 55775

30° (1,4/3)
(C)(V2,46)

31 40

© 1 (D)

N
(C) —L>1000
NO 0

C
(D)67

(D)1, 1,2)

N
(D) N—9 >2000

(D) 64

(D) 36

25
(D) 6

(D)6

2 2

XY
D) —+
®) 100 25

(D)(V6,~2)

2 (B
No

N; N

N
(E) —~>3000
NO



33.

34.

35.

36.

37.

38.

39.

40.

p=\/§sin35°+cos35°
1 3
(A) P>E (B) P>7
O AB
o) OAB
(A)OA+ OB
(C)—lﬁA+ %oTs
1 1
(B)— \5 ﬁ
y=X
(A) (0, 0) (B) 0, 1)
{2 3} {1 2}
A= ,B=
35 3 4
(A) a=4 (B) b=-2
1 4
(A) 0.4<p<0.6 (B) 0.5<p<0.7
X
(A)OSXS% (B) 0<x< 7
X2 y2
2516
(A)(O, 4) (B)(0, -4)
Z=-1
(A)1+\/_| (B) 1+\/_|

(Cp>1

1

(B)Ecﬁ+

3

D—(TA+—
( )5 5

©

1

2

©p=q

T
CO)—<x<7x
()2

P(-3, 0)

16
©6,=)

©

1\/_|

~OB
2

OB

(D) p>+2

(E) p>+/3

(D)

(D) d=2

(D) 0.4<g<0.6

X

D)z SXS%T

)
16
(D)(=3,7)

1—+/3i
(D) >

(E) x

(E) atbt+ctd=-1

(E) pt+ g=1
(1+sinX)-cosx < 0

RY/4
E—< <2
(E) 5

QB, 1

16
(B)G, =)

\/§+|

(E)
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